HEHEFEITE AT

L7

(2024. 9/5~9,/30)
E e o TR & %
10ME35%5 7> & 10054555 ??@%@;Ff &LT@%ﬁfifﬁzm%E
r&h+A7iz5 in ) E#E
tawia0s 6 1am500%y | L BIRDATRE TR DD P st
9 L7 A RS
e
H
. (RN F LT 2AZ in RN N |BESA AT VRS (i
14BE3057 7> 5 14BE5055 h - AT 4 — T 76 )
[(NXRhFLAT72RAF in #R)] T |BEAFST7TLVERS Bk
I8IRFLEI /N B20RF009T | 5 o 0 30" i) TR
. (NhFLAT7=228 in MR B AAKEBY AL AT =Y
10BFE3045 0> 5 1185304 At (R TH TP X)
. [(NEF LT =24 in R K|\RORAA—7 (Bt
; HIRFA03 A2 BHI2WE3053 | | i " 520 o e o %)
H
- +
H
R $$$%%%%ﬁﬂiw M7 2y it 4
[(NRF AT AHZ in HE)N] N
16W54053 22 5 1THF05%y | PP A ANBEFEAA Y —F a7 A MR [ KEES




M EEATHE AT

(2024. 9,/5~9,/30)
E W A T OE 4 B
[~ i Z) ) X i
110043 70 B 111254y %%Xgﬁjné?jj— R P
g (SR FAT=RH in MZ) K
g | H 13BF10 > B 1485005 (A 7o ~T2 9 |  FIEEX KA 7 U | KREEES
5 INEES=E=
[(NhF L7225 in MR | BARRED AL AT =
43 D> F10%y . hgtrt
16854043 0> 5 17HF1043 £ (hE IR TH Hh X))
9
21 1smr00552 Py b
H
AR ED TROWELR] WiE
135053 20 H 13304y |12 K B AR SGES B3 2 W E & [1E)T
g BT e I e IF Ly« X NP LS
10 K 150023 D> 5 167154y | EFILFEANA 7 4+ VT AREZE SR |5 5 Si=
X EEEORT
o \O— — 7= M :J: Yirin VA=
16051543 7> & 1685254y ?@@%&Hﬁéf & LCORHHTR 52 IR
9
3 k| 1am00s 5 A 5
H
9
fg 413150055 & PNAY i
H
9
e 1sms00s 0 2 B
H




M EEATHE AT

mR oo

22— L F g =T 4 —

(2024. 9,/5~9,/30)
E i B T O 4 B
I\ o [KERENENEEY T2 BNDRT « A | (AT FEdr
; 105047 7> B 1113043 2l 2
A
18 K
H \ o
135304575 B 14H5055 (U AP v L El kS /[Z\)‘/74:*ﬁﬁi‘ (ST
9
59 AR|10HE3045 75 & VN B2
H
9
N 4| 10r30557 55 Rk St
A
9 _ ! -
A A AR S N REEA | o o
A 1ams005 0051405455 |GRBRRE - BohRbiagmit |t hoa—77 > F R
21 ERTEN i X)
A
9
[ R—> e e — 1
oy | B (1388305 e smss0sy | 5 YN STLNE (€ AT g i (et fbe)
H
i [EEHAITT | %) OB i B
oy | [LOBFO053 70 B 11RF005) |23 5 KT O RFEE BIFTA 5 — I | P X P (FRBURTIRRIX)
A 7 b4 7()&% ffﬁﬁﬁﬂ
9
2 k10830575 i H
H
9
0 k1307005305 Kk 5
H
P \ PN ([ S S P a 2R
K l1885005y 70 5 180505y |BEMERBR PR Y —F 2 fpn p B ] k70 (15T

JH )




M EEATHE AT

14/E55%5 7> & 16/£004y

H ARG ENE T B2
B 8 |

RS THRA

X)

(2024. 9/5~9,/30)
5| L 7o 4 I
9
: 2 N 48] = A
i 4| 15124555 75 & 15HE55%) Ezggggg AR RS o e
H
1450043 7> 5 1415204y i}k\%%i%ﬁ%%% REBT 0 V= |
9
H
29 | H
H

N7 Akl (BT




